

Applications of Mathematics

Petr Vaněk

Multi-level method in eigenvalue problem

Applications of Mathematics, Vol. 39 (1994), No. 4, 259–267

Persistent URL: <http://dml.cz/dmlcz/134256>

Terms of use:

© Institute of Mathematics AS CR, 1994

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://dml.cz>

MULTI-LEVEL METHOD IN EIGENVALUE PROBLEM

PETR VANĚK, Plzeň

(Received May 29, 1992)

Summary. One method for computing the least eigenvalue of a positive definite matrix A of order n is described.

Keywords: eigenvalue problem, multi-level method

AMS classification: 65F10

1. INTRODUCTION

The goal of this paper is to describe one possibility how to compute the least eigenvalue of a positive definite matrix A of order n . The method described is in fact the power method part of which is the choice of an appropriate starting approximation of the corresponding eigenvector. The starting approximation is determined by solution of a less dimensional generalized eigenvalue problem.

2. CONVERGENCE

Let us consider the space \mathbb{R}_n with the usual scalar product (x, y) and the corresponding norm $\|x\| = \sqrt{(x, x)}$. Let $m < n$. Again the usual scalar product on \mathbb{R}_m will be used. Let A be a positive definite operator on \mathbb{R}_n , $0 < \lambda_1 < \lambda_2 < \dots < \lambda_s$, $2 \leq s \leq n$ all mutually different eigenvalues of A . Let $p: \mathbb{R}_m \rightarrow \mathbb{R}_n$ be a linear injective operator, r the adjoint operator to p with respect to both scalar products.

Lemma 2.1. *Let*

$$\omega \in \left(0, \frac{2}{\lambda_1 + \lambda_s}\right), \quad \omega \neq \frac{1}{\lambda_j} \quad \text{for all } j.$$

Then $\rho(M) = 1 - \omega\lambda_1$ is the spectral radius of $M = I - \omega A$.

Proof. Due to the assumptions, $1 - \omega\lambda_1 > 0$. We must prove

$$|1 - \omega\lambda_j| < 1 - \omega\lambda_1 \quad \text{for } j = 2, \dots, s.$$

But this inequality is equivalent to

$$\begin{aligned} \omega\lambda_1 < \omega\lambda_j < 2 - \omega\lambda_1, \\ 0 < \omega < \frac{2}{\lambda_1 + \lambda_j} \quad \text{for all } j. \end{aligned}$$

The last inequality is the evident consequence of the assumption of Lemma 2.1 \square

Definition 2.1. For any positive integer ν and any $v \in \mathbf{R}_m, v \neq 0$, let us define

$$\begin{aligned} Q(v, \nu) &= \frac{\|M^{\nu+1}pv\|}{\|M^\nu pv\|}, \\ \hat{Q}(\nu) &= \max_{v \neq 0} Q(v, \nu), \\ \hat{V}(\nu) &= \{\hat{v}, Q(\hat{v}, \nu) = \hat{Q}(\nu)\}. \end{aligned}$$

Remark 2.1. $\hat{V}(\nu) \cup \{0\}$ is a linear space, for proof see Lemma 2.2.

Algorithm 2.1. for determining an approximation of λ_1 consists in the following steps: given ν, ξ positive integers

Step 1. determine \hat{v} such that $Q(\hat{v}, \nu) = \hat{Q}(\nu)$ —see Lemma 2.2.

Step 2. compute $\tilde{\lambda}_1 = \frac{1 - Q(\hat{v}, \nu + \xi)}{\omega}$.

ξ additional iterations are done in order to suppress remainders of components of $M^\nu p\hat{v}$ with high energy, i.e. $\|\cdot\|_A \gg \|\cdot\|$.

Definition 2.2. For two linear operators K, L on a linear space U let us define a generalized eigenvalue μ and a generalized eigenvector v corresponding to μ by

$$Kv = \mu Lv, \quad v \neq 0.$$

The set of all generalized eigenvalues will be denoted by $\sigma(K, L)$.

Remark 2.2. If K, L are positive definite operators on an euclidean space U then $\sigma(K, L)$ is real. For further properties of generalized eigenvalues see [1] p. 383, algorithms for computing can be found in [2].

Lemma 2.2. $\hat{V}(\nu)$ is the set of all generalized eigenvectors corresponding to the maximal generalized eigenvalue from $\sigma(K_\nu, L_\nu)$, where

$$K_\nu = \tau M^{2\nu+2} p, \quad L_\nu = \tau M^{2\nu} p.$$

Further this maximal generalized eigenvalue is equal to $\hat{Q}^2(\nu)$.

Proof. K_ν, L_ν are obviously positive definite, therefore

$$K_\nu v = \mu L_\nu v, \quad v \neq 0$$

if and only if

$$L_\nu^{-\frac{1}{2}} K_\nu L_\nu^{-\frac{1}{2}} x = \mu x, \quad x = L_\nu^{\frac{1}{2}} v$$

and hence

$$\sigma(K_\nu, L_\nu) = \sigma(L_\nu^{-\frac{1}{2}} K_\nu L_\nu^{-\frac{1}{2}}).$$

Further

$$Q^2(v, \nu) = \frac{(K_\nu v, v)}{(L_\nu v, v)} = \frac{(L_\nu^{-\frac{1}{2}} K_\nu L_\nu^{-\frac{1}{2}} x, x)}{(x, x)}$$

where $x = L_\nu^{\frac{1}{2}} v$. This equality completes the proof. □

Definition 2.3. For every $\lambda_i \in \sigma(A)$ let us denote by $H_i = \text{Ker}(\lambda_i I - A)$, let $P_i: \mathbb{R}_n \rightarrow H_i$ be the orthogonal projector on H_i , $\mu_i = 1 - \omega \lambda_i$, $i = 1, 2, \dots, s$.

Lemma 2.3. Let $v \in \mathbb{R}_m$ be such that $P_1 p v \neq 0$. Then

$$\lim_{\nu \rightarrow \infty} Q(v, \nu) = \varrho(M).$$

Proof. Due to Lemma 2.1 $\varrho(M) = \mu_1$. Further

$$p v = \sum_{i=1}^s P_i p v$$

and

$$\begin{aligned} Q^2(v, \nu) &= \frac{(M^{2\nu+2} p v, p v)}{(M^{2\nu} p v, p v)} = \frac{\sum_{i=1}^s \mu_i^{2\nu+2} \|P_i p v\|^2}{\sum_{i=1}^s \mu_i^{2\nu} \|P_i p v\|^2} \\ &= \frac{\mu_1^2 (\|P_1 p v\|^2 + \sum_{i=2}^s \left(\frac{\mu_i}{\mu_1}\right)^{2\nu+2} \|P_i p v\|^2)}{\|P_1 p v\|^2 + \sum_{i=2}^s \left(\frac{\mu_i}{\mu_1}\right)^{2\nu} \|P_i p v\|^2} \rightarrow \mu_1^2. \end{aligned}$$

□

Lemma 2.4. *Let there exist $v \in \mathbb{R}_m$ such that $P_1pv \neq 0$. Then*

$$\lim_{\nu \rightarrow \infty} \hat{Q}(\nu) = \varrho(M).$$

Proof. To prove the statement we use the evident inequality

$$Q(v, \nu) \leq \hat{Q}(\nu) \leq \varrho(M)$$

and Lemma 2.3. □

Lemma 2.5. *If K is a selfadjoint operator on a Hilbert space U then*

$$\frac{\|K^2x\|}{\|Kx\|} \geq \frac{\|Kx\|}{\|x\|} \text{ for every } x \in U \setminus \text{Ker}(K).$$

Proof.

$$\|Kx\|^2 = (K^2x, x) \leq \|K^2x\| \cdot \|x\|.$$

□

Theorem 1. *Let there exist $v \in \mathbb{R}_m$ such that $P_1pv \neq 0$. Then for every $\hat{v} \in \hat{V}(\nu)$ and every positive integer ξ*

$$\lim_{\nu \rightarrow \infty} \frac{1 - Q(\hat{v}, \nu + \xi)}{\omega} = \lambda_1.$$

Proof. At first we will prove the inequality

$$\hat{Q}(\nu) \leq Q(\hat{v}, \nu + \xi)$$

for every $\hat{v} \in \hat{V}(\nu)$ and every positive integer ξ . Using Lemma 2.5 and induction we get

$$Q(\hat{v}, \nu + \xi) = \frac{\|M^{\nu+\xi+1}p\hat{v}\|}{\|M^{\nu+\xi}p\hat{v}\|} \geq \frac{\|M^{\nu+1}p\hat{v}\|}{\|M^{\nu}p\hat{v}\|} = \hat{Q}(\nu).$$

To complete the proof it is sufficient to apply Lemma 2.4. □

3. RATE OF CONVERGENCE

Definition 3.1. Let us denote by

$$S_\nu = R(M^\nu p), \quad T_\nu = \text{Ker}(rM^\nu).$$

Remark 3.1. It is not difficult to see that T_ν is the orthogonal complement of S_ν .

Lemma 3.1. For every $\hat{v} \in \hat{V}(\nu)$

$$[M^2 - \hat{Q}^2(\nu)I]M^\nu p\hat{v} \in T_\nu.$$

Proof. Due to Lemma 2.2 for every $\hat{v} \in \hat{V}(\nu)$ we have

$$(rM^{2\nu+2}p)\hat{v} = \hat{Q}^2(\nu)(rM^{2\nu}p)\hat{v}$$

which is equivalent to

$$rM^\nu[M^2 - \hat{Q}^2(\nu)I]M^\nu p\hat{v} = 0.$$

□

Lemma 3.2. Let $\hat{v} \in \hat{V}(\nu)$, let there exist an $\alpha > 0$ such that

$$\|[M^2 - Q^2(\hat{v}, \nu + \xi)I]M^{\nu+\xi}p\hat{v}\| \leq \alpha \|M^{\nu+\xi}p\hat{v}\|.$$

Then there exists $\mu_l \in \sigma(M)$ such that

$$|Q^2(\hat{v}, \nu + \xi) - \mu_l^2| \leq \alpha.$$

Proof. As

$$\|[M^2 - Q^2(\hat{v}, \nu + \xi)I]M^{\nu+\xi}p\hat{v}\| \geq \lambda_{\min}(M^2 - Q^2(\hat{v}, \nu + \xi)I) \|M^{\nu+\xi}p\hat{v}\|$$

hence

$$\lambda_{\min}(M^2 - Q^2(\hat{v}, \nu + \xi)I) \leq \alpha.$$

Since $\{\mu_l^2 - Q^2(\hat{v}, \nu + \xi)\}$ is the spectrum of $M^2 - Q^2(\hat{v}, \nu + \xi)I$ the lemma is proved.

□

Notation. Let U be a linear space, T a subspace of U . For every linear operator X on U we will denote by X_T the restriction of X on T .

Lemma 3.3. Let $\hat{v} \in \hat{V}(\nu)$. Let us denote by

$$b = \frac{\|M^{\nu+2}p\hat{v}\|}{\|M^\nu p\hat{v}\|}.$$

Then for every positive integer ξ

$$\frac{\|M^\xi[M^2 - \hat{Q}^2(\nu)I]M^\nu p\hat{v}\|^2}{\|M^{\nu+\xi}p\hat{v}\|^2} \leq \|M_{T_\nu}^\xi\|^2 \frac{b^2 - \hat{Q}^4(\nu)}{b^\xi},$$

$$b^2 \geq \hat{Q}^4(\nu).$$

Proof. Due to Lemma 3.1

$$[M^2 - \hat{Q}^2(\nu)I]M^\nu p\hat{v} \in T_\nu,$$

$$M^\nu p\hat{v} \in S_\nu = T_\nu^\perp.$$

Therefore

$$\|[M^2 - \hat{Q}^2(\nu)I]M^\nu p\hat{v}\|^2 = \|M^{\nu+2}p\hat{v}\|^2 - \hat{Q}^4(\nu)\|M^\nu p\hat{v}\|^2 = [b^2 - \hat{Q}^4(\nu)]\|M^\nu p\hat{v}\|^2$$

which implies

$$b^2 \geq \hat{Q}^4(\nu).$$

Further

$$(3.1) \quad \|M^\xi[M^2 - \hat{Q}^2(\nu)I]M^\nu p\hat{v}\|^2 \leq \|M_{T_\nu}^\xi\|^2 (b^2 - \hat{Q}^4(\nu))\|M^\nu p\hat{v}\|^2.$$

Using Lemma 2.5 and induction we will prove

$$(3.2) \quad \frac{\|M^{\nu+\xi}p\hat{v}\|}{\|M^\nu p\hat{v}\|} \geq b^{\frac{\xi}{2}}.$$

For $\xi = 2$ (3.2) becomes the equality. Let us suppose (3.2) holds for ξ then

$$\frac{\|M^{\nu+\xi+1}p\hat{v}\|}{\|M^\nu p\hat{v}\|} \geq b^{\frac{\xi}{2}} \frac{\|M^{\nu+\xi+1}p\hat{v}\|}{\|M^{\nu+\xi}p\hat{v}\|}.$$

Let us set

$$A_1 = \frac{\|M^{\nu+1}p\hat{v}\|}{\|M^\nu p\hat{v}\|}, \quad A_2 = \frac{\|M^{\nu+2}p\hat{v}\|}{\|M^{\nu+1}p\hat{v}\|}, \quad A_3 = \frac{\|M^{\nu+\xi+1}p\hat{v}\|}{\|M^{\nu+\xi}p\hat{v}\|}$$

then

$$b = A_1 A_2, \quad A_3 \geq A_1, \quad A_3 \geq A_2.$$

Therefore

$$A_3 \geq \sqrt{A_1 A_2} = \sqrt{b}$$

and (3.2) is proved. Combining inequalities (3.1) and (3.2) we get the statement. \square

Following inequalities are useful for estimating the operator norm $\|M_{T_\nu}^\xi\|$.

Lemma 3.4.

1. $\|M_{T_\nu}^\xi\| \leq \|M_{T_\nu}\| \cdot \|M_{T_{\nu-1}}\| \cdots \|M_{T_{\nu-\xi-1}}\|$,
2. for every positive integer i $\|M_{T_i}\| \leq \|M_{T_0}\|$.

Proof. From the definition of T_ν it follows $x \in T_\nu$ implies $M^i x \in T_{\nu-i}$. Further

$$\frac{\|M^\xi x\|}{\|x\|} = \frac{\|M(M^{\xi-1}x)\|}{\|M^{\xi-1}x\|} \cdots \frac{\|Mx\|}{\|x\|}.$$

Therefore

$$\|M_{T_\nu}^\xi\| \leq \|M_{T_{\nu-\xi+1}}\| \cdots \|M_{T_\nu}\|.$$

Now let $x \in T_i$ then $M^i x \in T_0$ and using Lemma 2.5 we get

$$\frac{\|M(M^i x)\|}{\|M^i x\|} \geq \frac{\|Mx\|}{\|x\|}$$

which yields 2. □

Corollary.

$$\|M_{T_\nu}^\xi\| \leq \|M_{T_{\nu-\xi+1}}\|^\xi \leq \|M_{T_0}\|^\xi.$$

Lemma 3.5. There exists $\mu_l \in \sigma(M)$ such that

$$|\mu_l^2 - Q^2(\hat{v}, \nu + \xi)| \leq \|M_{T_\nu}^\xi\| \frac{\sqrt{\varrho(M)^2 - Q^2(v, \nu)}}{Q^{\xi-1}(v, \nu)}$$

for every $v \in \mathbb{R}_m$, $v \neq 0$.

Proof. Using Lemmas 3.2 and 3.3 we get

$$|\mu_l^2 - Q^2(\hat{v}, \nu + \xi)| \leq \|M_{T_\nu}^\xi\| \frac{\sqrt{b^2 - \hat{Q}^4(\nu)}}{b^{\frac{\xi}{2}}}.$$

Due to Lemma 3.3

$$b \geq \hat{Q}^2(\nu) \geq Q^2(v, \nu)$$

for every $v \in \mathbb{R}_m$, $v \neq 0$. Further

$$b = \frac{\|M(M^{\nu+1})p\hat{v}\|}{\|M^{\nu+1}p\hat{v}\|} \cdot \frac{\|M^{\nu+1}p\hat{v}\|}{\|M^\nu p\hat{v}\|} \leq \varrho(M)\hat{Q}(\nu).$$

Combining these inequalities we get

$$|\mu_l^2 - Q^2(\hat{v}, \nu + \xi)| \leq \|M_{T_\nu}^\xi\| \frac{\sqrt{\varrho(M)^2 \hat{Q}^2(\nu) - \hat{Q}^2(\nu) Q^2(v, \nu)}}{Q^{\xi-1}(v, \nu) \hat{Q}^2(\nu)}$$

and

$$|\mu_l^2 - Q^2(\hat{v}, \nu + \xi)| \leq \|M_{T_\nu}^\xi\| \frac{\sqrt{\varrho(M)^2 - Q^2(v, \nu)}}{Q^{\xi-1}(v, \nu)}.$$

□

Remark 3.2.

1. $\varrho(M)$ in the estimates above can be replaced by 1.
2. The estimate in Lemma 3.5 is the better, the better approximation of an eigenvector belonging to $\varrho(M)$ pv is.

Convergence of the algorithm (2.1) was proved in Theorem 1. Estimates of the rate of convergence are given in the following theorem.

Theorem 2. *There exists $\lambda_l \in \sigma(A)$ such that*

$$(3.3) \quad |\tilde{\lambda}_1 - \lambda_l| \leq \|M_{T_\nu}^\xi\| \cdot \frac{\sqrt{(1 - \omega\lambda_1)^2 - Q^2(v, \nu)}}{\omega Q^{\xi-1}(v, \nu) |1 - \omega\lambda_s + Q(v, \nu)|}$$

for every $v \in \mathbb{R}_m$ for which the right hand side is defined.

Proof. We will use Lemma 3.5. As $\mu_l = 1 - \omega\lambda_l$

$$\begin{aligned} |\mu_l^2 - Q^2(\hat{v}, \nu + \xi)| &= \omega \left| \frac{1}{\omega} (1 - Q(\hat{v}, \nu + \xi)) - \lambda_l \right| \cdot |1 - \omega\lambda_l + Q(\hat{v}, \nu + \xi)| \\ &\geq \omega |\tilde{\lambda}_1 - \lambda_l| \cdot |1 - \omega\lambda_s + Q(v, \nu)| \end{aligned}$$

which yields the statement. □

Remark 3.3.

1. λ_s in (3.3) can be estimated using the Gershgorin theorem.
2. λ_l in (3.3) can be estimated by 0.

References

- [1] *Stoer J., Bulirsch R.*: Introduction to Numerical Analysis. Springer Verlag, 1980.
- [2] *C. B. Moler, G. W. Stewart*: An algorithm for generalized matrix eigenvalue problems. SIAM J. Numer. Anal. 10 (1973).
- [3] *W. Hackbusch*: Multigrid methods and applications. Springer Verlag, 1985.
- [4] *P. Vaněk*: Acceleration of algebraic multigrid method. Proceedings of the IX. Summer School SANM 91.
- [5] *S. Míka, P. Vaněk*: Modification of Two-level Algorithm with overcorrection. Appl. Math. 37 (1992), 13–28.
- [6] *P. Vaněk*: Acceleration of two-level algorithm by smoothing transfer operators. Appl. Math. 37 (1992), 265–274.
- [7] *S. Míka, P. Vaněk*: Acceleration of convergence of a two-level algebraic algorithm by aggregation in smoothing process. Appl. Math. 37 (1992), 243–356.

Author's address: Petr Vaněk, katedra matematiky, Západočeská universita, Americká 42, 306 14 Plzeň, ČR.